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QUESTION 1

Which of the following works BEST if code needs to be reused or called by other pieces of code? 

A. Function 

B. Anonymous block 

C. Declaration 

D. Formula 

Correct Answer: A 

 

QUESTION 2

A group of interns will be on the network over the next seven days. They will need access to the file server. Which of the
following should be implemented? 

A. Usernames 

B. Permissions 

C. Group objects 

D. Passwords 

Correct Answer: B 

 

QUESTION 3

A program will request user input and perform an operation several times if the input is correct. Which of the following
techniques BEST describes the fact that the operation is only performed if the input is correct? 

A. Looping 

B. Branching 

C. Reuse 

D. Modeling 

Correct Answer: B 

"BEST describes the fact that the operation is only performed IF the input is correct" 

The wording of this question indicates a conditional, such that a series of instructions will be executed once the
condition is met. Jumping from one part of the code to another is branching 
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QUESTION 4

A user is getting an error message when trying to go to a website. A technician asks the user a few questions to find out
more about the issue. The technician opens a browser locally and browses to the same site as the user. Which of the
following troubleshooting steps is the technician using by browsing to the same site? 

A. Establish a plan of action. 

B. Gather information 

C. Duplicate the problem. 

D. Find the root cause. 

Correct Answer: C 

 

QUESTION 5

Which of the following internal computing components is typically tasked with handling complex mathematical
calculations required for realistic in-game physics? 

A. RAM 

B. NIC 

C. GPU 

D. CPU 

Correct Answer: C 

 

QUESTION 6

Which of the following CIA triad concerns is violated when known-good computer hard drives and printed documents
are placed in the trash? 

A. Availability 

B. Confidentiality 

C. Integrity 

D. Accounting 

Correct Answer: B 

 

QUESTION 7

Which of the following would be the most cost-effective method to increase availability? 

A. Redundant equipment 
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B. Disaster recovery site 

C. Continuity plan 

D. Scheduled maintenance 

Correct Answer: C 

 

QUESTION 8

A large payment website was breached recently. A user is concerned that the breach will affect account security on
other sites. Which of the following password best practices would mitigate this risk? 

A. Password history 

B. Password reuse 

C. Password expiration 

D. Password age 

Correct Answer: C 

 

QUESTION 9

Which of the following internet service types is most susceptible to weather disruptions? 

A. Cable 

B. Satellite 

C. DSL 

D. Fiber 

Correct Answer: B 

 

QUESTION 10

Given this example: FEB8077911AB12TB 

Which of the following is being represented? 

A. MAC address 

B. String 

C. Hexadecimal 

D. Unicode 
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Correct Answer: C 

 

 

QUESTION 11

Which of the following authorization techniques is used to assign permissions and authorize a user based on job title or
function? 

A. Rule-based access control 

B. Mandatory access control 

C. Role-based access control 

D. Discretionary access control 

Correct Answer: C 

 

QUESTION 12

Which of the following storage types is MOST vulnerable to magnetic damage? 

A. Flash 

B. SSD 

C. Optical 

D. HDD 

Correct Answer: D 

 

QUESTION 13

A user wants to create a link between two tables in a database. Which of the following is the user MOST likely to use? 

A. Primary key 

B. Index 

C. Foreign key 

D. Constraint 

Correct Answer: C 

 

QUESTION 14
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To establish a theory of probable cause, one technician investigates network issues in the server room while another
technician troubleshoots the user\\'s workstation. Which of the following troubleshooting methodologies is being
performed? 

A. Question the obvious. 

B. Divide and conquer. 

C. Duplicate the problem 

D. Research the knowledge base. 

Correct Answer: B 

 

QUESTION 15

Which of the following features will render a file unreadable without the proper cipher? 

A. Compression 

B. Encryption 

C. Permissions 

D. Password 

Correct Answer: B 
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